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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
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What is the difference between Prof. Hicksian method of
measuring income effect and substitution effect and that

of Slutsky ? What is its importance ? Give examples.
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Explain the revealed preference theory of consumer

behaviour.
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Discuss in detail the law of variable proportions.
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What do you understand by Large-Scale Production ?

Discuss the economies of large-scale production.
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Explain critically Chamberlain’s group equilibrium
theory.
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Write short notes on any two of the following : 3T
(i) Cournot’s duopoly model (Or)
(11) Bertrand’s duopoly model RICIR Wq’ ﬁ'gﬁ'q‘u‘l' Eﬁ CIRES ';:ﬁw ™ 'QEE ﬁw
(iii) Kinked demand curve femofy foRay |
gPIE—4 Write a lucid note on the Walrus model of general
(UNIT—4) equilibrium analysis.
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Write a descriptive note on sales maximisation hypothesis
of Prof. Baumol.
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Explain the following :
(1)  Williamson’s managerial discretion theory

(i1)) Products exhaustion theorem
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Examine critically the principle of compensation. What is

the greatest drawback of the principle ? DD-2371 1,500
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